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QUESTION 1

Scenario: A Citrix Administrator configured a responder policy as follows: 

> add responder action Redirect_Act respondwith"DIAMETER.NEW_REDIRECT(\"aaa://host.example.com\")" 

> add responder policy Redirect_Pol "diameter.req.avp(264).value.eq(\"host1.example.net\")" Redirect_Act 

> bind lb vServer vs1 -policyName Redirect_Pol -priority 10 -type REQUEST 

What will be the effect of this configuration? 

A. Request originated from "host1.example.net" will be redirected to "host.example.com". 

B. Response originated from "host1.example.net" will be redirected to "host.example.com". 

C. Response originated from "host.example.net" will be redirected to "host1.example.com". 

D. Request originated from "host.example.net" will be redirected to "host1.example.com". 

Correct Answer: A 

https://docs.citrix.com/en-us/citrix-adc/current-release/appexpert/responder/diameter-support-responder.html 

 

QUESTION 2

Scenario: A Citrix Administrator executed the following command in a global server load balancing (GSLB)
environment: 

set gslb site SiteB -triggerMonitor MEPDOWN 

What will be the effect of this command on the default service monitoring behavior on a remote site? 

A. The service monitor is invoked only when Metric Exchange Protocol (MEP) has marked the service as DOWN. 

B. The service monitor is invoked only when Metric Exchange Protocol (MEP) connectivity has been lost between Site A
and Site B. 

C. The service monitor will take precedence over Metric Exchange Protocol (MEP). 

D. The state of the GSLB service will always be controlled by Metric Exchange Protocol (MEP). 

Correct Answer: A 

 

 

QUESTION 3

A Citrix Administrator needs to confirm that all client certificates presented to the authentication vServer are valid until
the year 2023. Which expression can the administrator use to meet this requirement? 
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A. CLIENT.SSL.CLIENT_CERT.VALID_NOT_AFTER.EQ(GMT2023) 

B. CLIENT.SSL.CLIENT_CERT.VALID_NOT_BEFORE.EQ(GMT2023) 

C. CLIENT.SSL.ORIGIN_SERVER_CERT.VALID_NOT_AFTER.EQ(GMT2023) 

D. CLIENT.SSL.CLIENT_CERT.DAYS_TO_EXPIRE.EQ(2023) 

Correct Answer: A 

https://docs.citrix.com/en-us/citrix-adc/current-release/appexpert/policies-and-expressions/adv-policy-exp-working-with-
dates-times-and-numbers/exp-for-ssl-certificate-date.html https://docs.citrix.com/en-us/citrix-adc/current-release/ssl/ssl-
actions-and-policies/config-built-in-sslactions.html 

 

QUESTION 4

The Citrix ADC SDX architecture allows instances to share ___________ and __________. (Choose the two correct
options to complete the sentence.) 

A. memory 

B. a CPU 

C. a physical interface 

D. the kernel 

Correct Answer: BC 

On Citrix ADC SDX, instances get dedicated and shared resources: The memory resources are dedicated to an
instance. The CPU resources can be dedicated, or shared, depending on the requirements Allocation of the network
devices is flexible in Citrix ADC SDX. The devices can be shared or dedicated based on the security or compliance
requirements. Each instance gets its own kernel. 

 

QUESTION 5

Which two options are only allowed when creating advanced policies? (Choose two.) 

A. TCP 

B. IP 

C. CLIENT 

D. DNS 

E. SQL 

Correct Answer: BC 

1Y0-241 PDF Dumps 1Y0-241 VCE Dumps 1Y0-241 Practice Test

Powered by TCPDF (www.tcpdf.org)

1Y0-241 PDF Dumps | 1Y0-241 VCE Dumps | 1Y0-241 Practice Test                                3 / 3

https://www.pass4itsure.com/1y0-241.html
https://www.pass4itsure.com/1y0-241.html
https://www.pass4itsure.com/1y0-241.html
https://www.pass4itsure.com/1y0-241.html
https://www.pass4itsure.com/1y0-241.html
https://www.pass4itsure.com/1y0-241.html
http://www.tcpdf.org

